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1.  There are no fossils in the layer between layers B and C because fossils are difficult to form here because it is a lava layer.
2.  The law of superposition states that Layer A is _the oldest layer_ because __it is located on the bottom and formed first_ .

3.   The fault is younger or older (circle one) than layer A because __it moved the older rock layers (the layers have to form first)_.
4.  What caused the fault?   
volcanoes

earthquakes

mountains

oceans

5.  The extrusion is older or younger than layer B because _the law of superposition says that the oldest layer is found on the bottom while the youngest layer is found on the top
6.  If the extrusion is 350 million years old, and layer A is 550 million years old then layer B’s relative age would be about ___450__ million years old.
7.  Geologists found evidence that there was a layer D in the past.  Why is it missing?  Layer D probably was eroded away by water such as a sea, ocean, lake
8.  Layer B is younger or older than the intrusion because _ it cuts through the older layer B (the layers have to be there before the magma can shoot up)
9.  A fossil is:  (circle one)


A.  rocks found in layers


B.  made from volcanoes


C.   the rocky remains of something living 


D.  made in the mantle
10.  Which layer was formed under a giant sea?  Layer C How do you know?  The fish and shell fossils are found in water


11.  What is something scientists can learn from fossils? How old the Earth is, how life has changed through time, what past life looked like, and what past environments were like
12.  What Era do you think this rock section formed in?   Cenozoic 
Mesozoic
Paleozoic 
Precambrian
What clues lead to your answer?  ________the fish and shell fossil as well as the dates_______________
13.  Matching:   
____A_______ Igneous Rock


A.  Layer A






___B________ Sedimentary Rock


B.  Layer B
